Pull of x for PV

Ratio

12f e 1

0.8

. < 0 ——
: T 3 g8 T
r Pl : = £ 1.8 |
18F-- I 4 E 1.8 g E
T : 3 g “F1]
L P ] L © 14|}
L T 3 MY
oo | 1.4 = 12F-}-
- : - 4 8 o
14 I 1.2 3 1:_-
L T ° E.
= F
a E.

T[T T T[T T T[T T T T T T[T T T[T TT T[T

et 4
: 0.6 0.2:-“ ----------
0.8¢ oo 1 2 " 2 1(2)-—"
W SO IR, 1 LA e S Eof g F
E : : E e
Pooc il |
va (GE\}) lg-p... (GEV)

M_TT _mkFit-DOM_mod-127
M~TT —mkFit-DOM"mod_updatedmod-127

—— D

UéIVI TT mKl—it-UéM origina-0

—— D

Pull of y for PV

Ratio

Pull of z for PV

Ratio

Pull ot y

o 4+ . 2 E
= 1 = 1.2F-
8 vosf-3 g :
1 iy
0.95[H -1+t 0sk |
0.9 1 i L
]'g'pT (GeV)
N 2 2
G
= 1.8 18
a

‘% vosf-Ji ] ‘% LaET
x - i X 12F-
1F- E
11 ji o
0.95f - {-f -+7k- F
0.8

0.9

1.8

1.6

14

1.2

0.8

06k
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